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Problem 1 
(a)  
 

X Y NOT X NOT Y (NOT X) OR 
(NOT Y) 

NOT ((NOT X) 
 OR (NOT Y)) 

0 0 1 1 1 0 
0 1 1 0 1 0 
1 0 0 1 1 0 
1 1 0 0 0 1 

 
(b) AND 
 
 
 
 
 
Problem 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Extra credit: Z = 1 only if X = Y (regardless of W). 
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Problem 3 
 

T(X,Y) = ( NOT  X ) AND Y 
 
(a) NOT gate 
 
 
 
 
 
(b) AND gate 
      Solution 1: 
 
 
 
 
 
 
 
 
      Solution 2: 
 
 
 
 
 
 
 
 
       Solution 3: 
 
 
 
 
 
 
 
 
 
 
 
Problem 4 
 
900 MHz 
 
75 x 60 x 900,000,000 = 4,050,000,000,000 = 4.05 x 1012 
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